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®© ma+mb—m=m(a+b)

@ 64a® + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x? —5xy+3y? = (x - 3y)(2x - y)



® (x=-y)(x+y)

@y

O x?

® x+y

@ x(x-y)
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@ (x-y+3)* ® (x+y-3)°

B (x+y+4)?

D (x+y+3)?

@ (x-y-3)2






6. O<x<l, -2<y<-19%u b3 A& D3] 54d?

V)24 V(x+y)?2—dxy - /(x—y)? +dxy

®© -xy @ 2x—xy ® 2x+ xy

@ 2y — xy ® x—=xy
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@ 2x3 —8x% — 10x = 2x(x® —4x - 5)

=2x(x-5)(__)
© (x+y)2+3(x+y) +2°4[ |8 A = 28t}

DO x-1,x-y @ x-1,x+y ® x+1,x-y

@ x+1,x+y ® x, x+vy



9.  -9x%+y?+6xz-722 & AFEMNFAEY (ay — 3x +2)(y + bx + cz)
7F = et olwl, A<= a, b, ¢ ol ot a+ b + ¢ 9] F-= F5HAE?
D1 @ 2 3 3 @ -1 B -2



10. 8%2-10] ZkA5= nofl O3 Lhrof Boid uf, n 9] ke ot FFstofzt.
(&, 60 < n < 70)

e =
-



RS o, oS <H7]> 5 1

S

9

Ala?x+1-x-—a? 2 A58

5

11. o

A

© a+1

O x+1

@ a-1

© x*+1
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